PAMME
—

O\) & 0,50
OAS
0,03 Q»\h&m dawrowa (0,015 % 0, S)/05 = 08t
033 ki) jwm"
{
0¥ L 2 M QWrau) = A5 K w
_\3) S 0,36 < &3 w = 0\31\6{)/\&1,

D{le 2 M QMM\M): 0,6% k/ﬂlfw\

gm0 asiass)aastee) = I

(!

dyers A8 (ATS) F 068 = 3k

O ;-
&3 l 74\‘\& (Por\fc;%apiméfog&é

l\,_% 5 .
S2M W bs Y2150 a2y
4 bcw avt Gon A= @& = 30 4,52 = Je2 KD
|
T = E\)_ :_/(Ar‘bl P
5 .
L 2 ¢ Lol
Wr- P_/,\ 2\ L U7 DA k). m
S 3
\,\W - AS- 0o _ 0 2 “}W\M«’L
06}, 100 250
PALYA
0,0
/Y\/\‘i: («m’ Az Q\}GW/WV’\’L
k/\) Shs = 0@5 \o6 G Y
Moo . 259t = u\aﬂ/\ﬂr\w\
ub 7o
i\/’\k _ 2\‘\ AN /\‘o\‘o DIV"\W\L
A%



J) 42 S =LY} UYSsot AL

= = A wm W
28y MWoe Ao 2%° {587
4/&0,\,\}@ &= (4500/’?»% = 22WmMwm j
BreAy a
0\) % Sorf}cuz, o\/\w<g/&> — T
6o 5o /2251 Tamk = yom
O\AS lef \Z{—@ L
008 Wt (dhawons) | T
006 el (o)) |
LN %‘i{) fo = h2w
052 xAB bwt = A5 2k | |
" ) e e

T
Xz\fu\‘«ow %s’?,) =0y kn > =906 ki/m

Qﬂ) Yo 0 Varbi. 0,08x0,25%5 x4 2 = 0yki)
G= A5,% k0

bj S = 036xcak A8 = (kN

N T amuse o | A= Bl
XSOO
A

%\ N 20,2 kN

T

S) Oc :M = O\ﬁﬂlmml
N30 x Ndo

09

L= A%%

= 240 Xo’g - 2 ['\1%

d = ——"77 y0o, %2k = 4L¥ Y Jmm

Aed = =0 (o) J j
GO MM

>



	IMG.pdf
	IMG_0001

